Name

Date L€§§U4 # 1

Use with textbook pages 8-28.

Biomes

Match each Term on the left with the best
Descriptor on the right. Each Descriptor may only
be used once.

Term Descriptor

1._C abiotic A the distance measured

2. adaptations X in degrees north or

3. biome south from the equator

4, biotic | B. characteristics that

5. _ climate = enable organisms to

6. A latitude & better survive and
reproduce

C. relating to non-living
parts of an environ-
ment, such as sunlight,
soil, moisture, and
temperature

D. relating to the living
organisms, such as
plants, animals, fungi,
and bacteria

E. the largest division of

the biosphere

F. the average conditions

of the atmosphere in a

large region over

30 years

]

Circle the letter of the best answer.,
7. A biome is best represented by a:

A. river
B. city
C. latitude

@ desert
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Which of the following is an abiotic
component of an environment?

A. algae
unlight

C. fungi

D. plants

Which of the following is a biotic
component of an ecosystem?

A. moisture
B. sand

D. temperature

Which of the following is a characteristic
of the boreal forest biome?

A. below freezing half the year §
B. long, hot summers i
C. polar land masses ’
D. lots of precipitation |

Which world biome is represented by a
climatograph that illustrates an average
precipitation of 300 cm in the month of
January?

A. grassland
B. tropical rainforest
C. permanent ice

D. temperate deciduous forest

Which world biome is represented by a
climatograph that illustrates an average

temperature of —~25°C in the month of J uly?
A. boreal forest
B. tropical rainforest

C. permanent ice
D. tundra

Section 1.1 Biomes e MHR 7
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Use with textbook pages 56-64.

Energy flow in
ecosystems

Descriptor on the right. Each Descriptor may only

Match each Term on the left with the best ]

be used once.

Term Descriptor
1. biodegradation , a model that shows
2. consumers the flow of energy from
3. decomposers plant to animal and
4. 2\ food chain from anima! to animal
5. food pyramid p./organisms that pro-
6. food web duce food in the form
7. producers of carbohydrates dur-
8. trophic levels ing photosynthesis

B the breaking down of

dead organic matter
by organisms, such as
bacteria
/steps in a food chain
that show feeding and
niche relationships
among organisms
. a model that shows the

loss of energy from one
trophic level to another

. an organism that eats
other organisms

G. a model of the feeding
relationships within an
gcosystem

H. organisms that break
down wastes and dead-
organisms and change
them into usable nutri-
ents

Circle the letter of the best answer.

9. In a food chain, primary producers are
usually:

A. amphibians

B. bacteria

20 MHR * Section 2.1

Energy Flow in Ecosystems

- 10. What product of photosynthesis supplies

energy for life forms?
carbohydrates

B. carbon dioxide

C. oxygen

D. water

- 11. Which of the following organisms are

likely to be found in the third trophic level
of a food chain?

C. grasshopper

"B) frog D. hawk

12. Which of the following describes the

process of piodegradation?

A. plants using photosynthesis to create
food

B. primary consumers eating plants
@acteria breaking down organic matter

D. omnivores eating plants and animals

* 13.In a food pyramid, how much energy is lost

from trophic level to trophic level?
A. 20 % C. 70%
B. 50 %

- 14. In a food pyramid:

A. as the trophic level decreases, the
number of organisms supported by the
ecosystem decreases

B. as the trophic level increases, the number
of organisms supported by the ecosystem
increases

as the trophic level increases, the number
of organisms supported by the ecosystem
decreases

D. as the trophic level decreases, the
number of organisms supported by the
ecosystem increases

© 2008 McGraw-Hill Ryerson Limited
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Connecting the Abiotic and Biotic Parts of the Environment

Use with fextbook pages 286-287.

1. For each scenario in the table below, identify the abiotic part(s) and the biotic part(s).

Processing and
Analyzmg |

Scenario

- Abiofic Par(s) Biotic Part(s)

Amoose drinks water from a river,

: watey Moose

Heavy rains and landslides cause plants to be uprooted, (AN rock O\zits

Strong winds break branches off trees. ( ,\).i':‘d ﬁ:\’fe <

A lack of nutrients in soil results in tomato plants not producing tomatoes. nivient, sl | domen dacd

Plants that need shade are planted in an area that gets lots of sunlight. The . ( '

leaves turn brown and the plants do not produce flowers. SJV\\I 0]\/\\' “D Wﬁﬁh
4 1

The pH of the water in an aquarium is too high and several fish die. ‘?rl files L\

Runoff from a heavy snowmelt reduces the salinity of the water in an estuary. By y

Some of the reeds die and some of the fish leave the estuary for an area of 5“‘ v e e'd S4

higher salinity in the ocean. \\ X{s\/\

f(rl

f

ik

2. Give two new examples (not already given in yo of how two of Earth's

spheres interact.

a) The two spheres that interact are the %ﬁ&ﬁ_@hﬁ)ﬁ___ and the

\OlD%p\f\ar £

b) They interact in the following way:

ANSAZL \ WM \fﬁ.\(&:}

¢) The two spheres that interact are the _k\%i@j#&ﬂ{‘ and the

C{-\rvvtk')bp\r@y&
d) They interact in the following way:
anciness Wil vama .
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Date | Assessmept

Name

4.1 Assessment

Match each description on the left
part of the environment may be used more than once.

with the part of the environment on the right. Eqch

AT Part of the Environment
or ' 1 R - A, b. t. N
1.:A__ Abird builds n the tree. il
B. biotic

2.8 increased [carbon dioxideljn the atmosphere causes the pH of ocean water to decrease.

3.0 A caterpillar eats the leaves of a plant.

4. B it rained four out of seven days last week.

5._P‘_ In Location A, it is sunny and hot in the summer and cold with lots of snow in the winter.

6.&_ A mushroom decomposes a fallen tree branch.

- = e = .

Match each description on the left with the ecosystem service on the right. Each
ecosystem service may be used only once.

8. A regulation of carbon dioxide and oxygen
9._.D_ homes for migratory species and nurseries
10._5_ regulation of greenhouse gases

11 _E_ fossil fuels, timber, minerals

12. _C__ crops, livestock, fish

13. L _ preventing the loss of topsoil

14. G learning from and enjoying nature

"~ Desarpion [ Ecoptemsenice |
7. £ carbon, nitrogen, and other cycles A atmospheric gas supply !

/B’. climate regulation

/.'f food production

| Phabitat (living space)
Enutrient recycling

Fraw materials (natural resources)
. cultural benefits

M water supply

A'soil erosion control

15._H__ having sufficient drinking water

P — = — P

e — T ——

Circle the letter of the best answer for questions 16 to 26.

16. The solid, mainly rocky part of Earth is the

A. atmosphere.

B. biosphere.

@ geosphere.

D. hydrosphere.

168  NEL«4.1 Assessment
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Processing and
Analyzing

Date

Nome_—

Global Winds and Ocean Currents
Use with textbook pages 30/-302,

Use the diagram of Earth’s wind systems to answer questions 1 to 4.

90°N

1. In which direction do the trade winds move?
QQBJF o w/CS'\"

2. What happens to air as it approaches the A s SV
equator? £77) T R

QW wWarms  andh i ses
ond tzrels do okl or
oo 4o 500 [a*HTLoQ. C/DE)(S,;_
aks 1 moes WESTWARRD
back Ao Awe SQuee Cc{jo(o,)

3. Which winds affect weather in much of North America? __ \s/£ sver lies
4. Which winds are responsible for moving cold air from'the poles toward the equator?
polar eagterles

5. Use the terms in the box to fill in the blanks in the paragraph below. Some terms
may be used more than once.

pelar easterlies

''''

cold cool landmass

wari westerly winds

Ocean surface currents are created by w\ndg . In all ocean basins, warm water

currents near the equator flow in a ,mgéﬁ%_ direction. When these currents reach a
|0«M wiass , they turn toward the poles. These poleward-flowing waters carry

WALV _, tropical water into high colder latitudes. After these warm waters enter

polar regions, they gradually oo\ . Eventually, they reacha _pole  and

begin flowing toward the equator. The resulting currents bring Colot water from

higher latitudes to tropical regions.
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Date

Name

13, Which of the following statements is true? : '
ating of the surface, which

The curved surface of Earth results in unequal he
causes wind,

B. Wind creates thermal energy.
C. Cool air is less dense than warm air so it sinks, creating wind.
D. Cool air near Earth’s surface rises and warms before sinking back down.

Use the diagram below to answer questions 14 to 16.

14. Which section of the globe represents the trade winds?
C.C

A. A
B D. None of the above.

15. Which section of the globe represents the westerlies?
A. A C
B. B D. None of the above.

16. Which section of the globe represents the polar easterlies?
A C.C
B. B D. None of the above.

17. Which statement about wind is false?
A. Wind is moving air, -
B. Wind results from an unequal heating of Earth’s surface,
Wind does not play an important role in redistributing thermal energy around Earth.

D. Earth’s major wind systems result from a combination of convection currents
and the Coriolis effect.

180  NEL.4.2 Assessment ©2017, originally acquired by McGraw-Hill Ryerson Limited
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Name Date IF _Topic4,3v
4.3 Assessment b d
. ay be use
Match each description on the left with the term on the right. Each term may
more than once.
I
Description ____r_———ﬁ———— o
A. consumer

1._E _organism that makes its own food to get the energy it needs to live

2._C_ model that describes how the stored energy in food is passed on from o_niliv_in_gﬁ____mﬂm{tﬂf'

3._3___ golden eagle that preys on a marmot

4, __fz_ organism that breaks down dead organic material to obtain the energy it needs to live

5._D_ model of feeding relationships that shows a network of interacting and overlapping food chains

6. B organism that consumes other organisms to get the energy it needs to live

B. decomposer
C. food chain
D. food web

E. producer

7. __E_ grasses that carry out photosynthesis

Circle the letter of the best answer for questions 810 17.

8. In a food chain, each time energy is transferred
is lost as unusable

A. heat.
B. food.

C.) waste.

D. water.

to the next level some of the energy

9. Which is not a reason why only a small percent of food energy is available at the

next level of an energy pyramid?

A. Some of the original food energy has been used already to support life

functions, such as growth and cellular respiration.

B. Some energy is changed into heat that is given off into the environment. This

energy cannot be used by other living things.

C. Some energy is stored in wastes (urine and feces) that are excreted into the

environment.

There is a constant flow of energy needed to sustain living things in terrestrial

and aquatic ecosystems.

10. In an energy pyramid, how much energy @ ith each step up?
A. 10% C. 50%

B. 25% 90%

188  NEL-4.3 Assessment ©2017, originally acquired by McGraw-Hill Ryerson Limited
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in the food chain show
11, If the algae in ' N produce 10
units, how many energy units are availabje for thgosf)meé}le%:h?

glgae

-—-Y:ﬁ'mqv:j ‘Pyodwo&*’ CIOOQL)

« zooplankton — ( ID‘/,,)

¢( small fish — 10[0 —> 0.0l < lpooo <

=

| ,& (co
@ Wy o0

A. 10 C. 1000

@100 D. 10 000

Use the diagram of the food web to answer questions 12 1o 17.

>
i

phytoplankten

12. Which organisms are preyed on by brown pelicans?
A. orcas, zooplankton, Pacific herring

B. Pacific sardine, Chinook salmon, bear

i

@lorthern anchovy, Pacific herring, Pacific sardine

D. sea lion, phytoplankton, northern anchovy

1 .
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- | Topica.3.

Name

13. Which of the following organisms has no predators in this food web?
A. Chinook salmon C. Pacific herring

orca D. sea lion
14. Which represents a|food chain within the food web?
@ phytoplankton — zooplankton — Pacific herring — brown pelican

B. zooplankton —» Pacific herring - Chinook salmon — bear

C. phytoplankton — Pacific sardine — sea lion — bear

D. zooplankton — Pacific herring — northern anchovy — sea lion
15. Which organisms CM@

A. sea lion, brown pelican, northern anchovy

B. phytoplankton, Chinook salmon, orca

@ Pacific sardine, Pacific herring, northern anchovy
D. bear, orca, sea lion

16. Which organisms are the producers in this food web?
@ phytoplankton
D. zooplankton

A. brown pelican

B. northern anchovy
17. What are the most levels of any food chain in this food web?
A. 3 CE

B. 4 D. 6
18. Complete the Venn diagram to show the similarities and differences between a food

chain and a food web.

Food Chain Food Web

W].\U‘(‘,DV\V\QXACA

orpemsms widh

s \hvole
Rovcl

Ohﬁ\‘\l\
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